INgert these words inte 1he four Blanks of the Senlenci: MAss . MOoMeniem . AScalarason .
time | impact . weight . Empulsa . and lorge . (Not every word will be used.)
In & collision, an object sxpetencas ain) i ¢  @cting for a cerain armount of
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6. Al i-'llﬂlli::'.l-l &5 causes and is equal 1o a change in mamentum
a. forcs b. impact c. irmpulse o, collision

7 & 1000 kg car is moving ot 20 més. The momenturn of the car is:
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8. . The momentum of & Car is 30,000 kg ms, The mass of the Car iz 1500 kg '."mr.-jthesnund
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9. The momentem of & car is 500000 kg mis. The speod of e car is 250 mis. What Is the mass
of the car? P ﬁﬁm’r‘q'm-ﬁ
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[+% A ball was hitting by a bai. The impact leerce 8 253 M, and the contact time s 0.2 5. Winai is
1he impulsse recahvad oy the ball?

Tmpolse = Cae —> 2Jasbiv- =2 -spN

11, A 1200 kg car was crashed into a wall. The impulse s 4000 M-g and the impact time 2 0.5 5

What ks the impact force the car?
. = Tmpolse _ L - HOWK)
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A 1000 kg car was crashed into a garden and stopped. The imoulse i€ 2000 M-5 and the
impact force ks 2000 N. How long it lakes for the car 1o stop?
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